
StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Aritmetikk for eksponenter (negative eksponenter)

9 − (−3) =2 1 + (−10) =(−1)

(−9) − (−2) =(−1) 2 − (−6) =2

(−5) + (−7) =2 9 + (−8) =0

(−2) + 7 =(−2) (−3) − 9 =0

(−10) − (−10) = 2 + (−5) =(−2)

8 − 4 =(−1) 7 + 6 =2

(−5) + (−2) =(−1) 10 − 6 =(−1)

7 − (−9) =2 (−7) + 7 =(−2)

5 − (−9) =(−1) 9 − 10 =(−2)

8 + 5 =(−2) (−10) − (−1) =2
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StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Aritmetikk for eksponenter (negative eksponenter)

9 − (−3) = 842 1 + (−10) = (−9)(−1)

(−9) − (−2) = = 1(−1)

9
17

9
8

2 − (−6) = 102

(−5) + (−7) = 182 9 + (−8) = (−7)0

(−2) + 7 = = 7(−2)

4
29

4
1

(−3) − 9 = (−8)0

(−10) − (−10) = 0 2 + (−5) = (− ) = (−4 )(−2)

4
19

4
3

8 − 4 = (− ) = (−3 )(−1)

8
31

8
7

7 + 6 = 552

(−5) + (−2) = (− ) = (−2 )(−1)

5
11

5
1

10 − 6 = (− ) = (−5 )(−1)

10
59

10
9

7 − (−9) = 582 (−7) + 7 = = 7(−2)

49
344

49
1

5 − (−9) = = 9(−1)

5
46

5
1

9 − 10 = (− ) = (−9 )(−2)

81
809

81
80

8 + 5 = = 5(−2)

64
321

64
1

(−10) − (−1) = 1012
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